a Foundation Worksheet X
6:10 | Binomial Products—Surds
kName: Class: —)
Examples
Expand and simplify.
1 2B =D 2 /6 (6 +43) 3 (245 = 3) (245 + 43
=6 -2.2 =6+ /18 = (245)2 = (J2)?
=6+342 '=20-73
=17
4 (S5+DGSE -4 5 (4—4/3)2
= 554 +T7(S5-4) —42_2x4x 3+ J3?
=5-4.J5 + 7.5 28 =16- 843 +3
=35 -23 =10- 8.3

~ Exercise

1 Expand and simplify.

a J5(/5-2)
d J7G+JD
g J6(J2-46)

2 Expand and simplify.
a (x+2)(x+3)

d B+ 2)5+42)

g (J6 -6 -3
RCENCHNCEINED

m (342 —2)(342 +2)
| 3 Expand and simplify.

a (x+2)?

d (5 —4)?

g G+A7)?

i1 =B

Answers can be found in the Interactive Student CD.
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b J/5(/2+43)
e 3B+
h S3(/2-4)

b (J/5+2)(J5+3)

e (S3-1)(/3+2)

h (23 -3)(243 +3)
k (7 +4/6) (T = /6)
n (J11+2) (J11+5)

b (43 +2)?

e (Jf5+43)?
h (5+ J/11)2
(/10 +5)?

=

24

i

J10(3 + 4/2)
J2(5-42)
JTT+43)

(J6+2) (J/6-2)
(5+ 4/6) (5 A/6)
(4— A7) Q2+ T
(/10 - 5) (/10-6)
3= 2) (7 +42)

(4- 22
(V2 - W3)?
(W6 - 2)?
(W2 +5)?
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6:10 Binomial Products—Surds

1 a 5—2J§
g 243 -6

2 a xX2+5x+6
g 10 -4./6
m 14

3 a x*+4x+4
g 16+ 6.7

= o

=0

J10 + 15
J6 — 443
114545
3

21 + 7411
74443
36 +104/11

(@]

i

n

o

3410 4245
7+ 421
L

1+ 247
19— 4.2
18— 8.2
10 - 4./6

o

37T +7

17 + 8.2
9+5.5

21 - 8.5
16 - 2./39

3+ .21

1+ .3

1

8+2.15

35+ 10410

f5./2-2

f 19

| 40-11./10

f 5-2./6

| 27+10.42




